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answer all questions. 

 paRT – a  (10×2=20 Marks)

 1. list the forms of utility. 

 2. Differentiate ‘wealth’ and ‘money’.  

 3. state the law of supply.

 4. Define cross elasticity of demand.

 5. give atleast four examples of public enterprises.

 6. mention the different types of banks. 

 7. What are the internal sources of funds ?

 8. list the different types of assets used for preparing a balance sheet.

 9.  What is ‘feasibility report’ ? 

 10. What is ‘angle of incidence’ ? 

 paRT – B  (5×16=80 Marks)

 11. a) Bring out the nature and scope of engineering economics with appropriate 
examples.

(oR)
  b)  Explain the characteristics and classification of managerial economics.
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 12. a) i) Discuss the types and degrees of elasticity of demand with example. (10)

   ii) Bring out the practical importance of concept of elasticity. (6)

(oR)

  b) i) list the main types of market structures and explain the features of 
    them. (10)

   ii) Describe the importance of time element in the theory of value. (6)

 13. a)  Bring out the salient features of various forms of business organisations. (16)

(oR)

  b) Clearly explain about the functions of central and commercial banks. (16)

 14. a) What are the sources of short-term and long-term funds ? Bring out the 
   merits and limitations of each source. (16)

(oR)

  b)  What are the uses of fund flow statement ? prepare a typical fund flow 
   statement.  (16)

 15. a) Write short notes on :

   i) Fixed and Variable Costs. (4)

   ii) Did pricing and Rate of Return pricing.    (4)

   iii) Cost-output Relationships.  (4)

   iv) Net present Value.  (4)

(oR)

  b)  in a company, sales are to the extent of Rs. 1,00,000, fixed cost is Rs. 20,000 
and BEp is Rs. 80,000. What is the profit margin ? Due to control procedures, 
if the fixed costs are reduced to Rs. 10,000, profit to Rs. 5,000 and BEp is 

   brought down to Rs. 20,000, what will be the sales ? (16)
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